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Ne | x° + px+qg=0| P | ¢q X+ X Xyt Xy
1| x*+4x-5=0| 4 | 5 4 5
2|1 x*—8x-9=0|-8 |9 8 -9
3 x*=6x-7=01|-6 |-7 6 -7
Ylx*=x=2=0 |-1|-2 1 -2
1 x*+x—-6=0|1 |6 -1 -6
6 | x*+6x—40=0| 6 | -40 6 -40
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Ne451:
Dx +x,=1, x-x,=-2

2)x, +x,=5, x-x,=—06
3)x+x,==3, x -x,=2
DHx, +x,=-3, x-x,=
Sx, +x, =7, x,-x,=35

O)x, +x, =-9, x, -x,

—4

=6

PaboTta c

qu6H / Iﬁ% 451 (yCTHO),

126, Ne 454 (yCTHO),
Ne 456

Neass:  (MMCbMEHHO)

1) OAOuH KopeHb
NONOXUTESbHbIN ,

z)d&Y§BBIQA'pVILI,aTeﬂbeII7I
RIS
APOPAATIRS Pretid
NONOXUTESNbHbIN ,
OpYyron otTpuuaTesbHbIN

Ne456: [NpoBepka B
napax



3agaHune Ha
NOM:

BblyynTb 3anucu B cO.
NOHATUN,
2. CTp. 126. Ne 455



